

**BUILDING SUPPLIES: ELECTRICAL - ANNUAL BID # 2000-2GEN** AS PER BIDS RECEIVED ON: JANUARY 4, 2023 AT 11:00 A.M.

FROM: JANUARY 23, 2023 TO; JANUARY 22, 2024 W/ OPTION TO RENEW ONCE OR TWICE FOR (ONE) ADDITIONAL YEAR W/ EACH RENEWAL.

VENDOR ADDRESS			ELECTRI	C FIXTURE SUPPLY INC.
				810 E. 11th, St,
			BRO	WNSVILLE, TX. 78522
DESCRIPTION			(956) 546-2401	
PRIMARY VENDOR - ELECTRICAL	U/M	Qty pr/yr.	Unit Price	Total pr/ yr.
I. FUSES				
1 FRS-R-30 600 V RK TD	30	EA	\$6.00	\$180,00
2 SC-15 600V CLASS G	30	EA	\$1.50	\$45.00
3 FRN-R-30 250V TD	60	EA	\$4.00	\$240,00
4 SC-30 300V CLASS G	30	EA	\$1.75	\$52.50
5 SC-20 600V CLASS G	20	EA	\$1.75	\$35.00
6 KTK-R-15 600V MINITURE	30	EA	\$8.00	\$240,00
7 KTK-10 600V MINITURE	50	EA	\$2.50	\$125,00
8 MDL-3 250V SMALL DIM 3A 250V SLOW BLOW	30	EA	\$0.60	\$18,00
9 FRN-R-60 250V RK5 TD 60A	60	EA	\$4.50	\$270,00
10 KTK-R-10 600V MINITURE	30	EA	\$8.00	\$240,00
11 FRN-R-45 250V RK5 TD	20	EA	\$2.60	\$52.00
12 FRN-R-150 250V RK5	20	EA	\$11.36	\$227,20
13 FRS-R-100 600V RK TD	30	EA	\$19.00	\$570,00
14 FRS-R-200 600V RK5	20	EA	\$20.00	\$400.00
		SUB-TOT.	AL ITEM I. —	\$2,694.70

PEDRO HINOJOSA - BUILDING MAINTENANCE MANAGER

BUILDING SUPPLIES: ELECTRICAL - ANNUAL BID # 2000-2GEN

AS PER BIDS RECEIVED ON: JANUARY 4, 2023 AT 11:00 A.M.

FROM: JANUARY 23, 2023 TO: JANUARY 22, 2024 W/ OPTION TO RENEW ONCE OR TWICE FOR (ONE) ADDITIONAL YEAR W/ EACH RENEWAL.

	VENDOR ADDRESS	U/M	Olypr/yr.	ELECTRIC FIXTURE SUPPLY INC. 810 E -11th -St, BROWNSVILLE, TX -78522 (956) 546-2401	
	( Continued) Primary Vendor - Electrical			Unit Price	Total pr/ yr
U.	CUTLED, HAMMED, ITE, CE, & SQUARED				
1.	SP 20AMP-120V	50	E.A.	\$5.00	\$250 00
2	The state of the s	30	F.A.	\$15.00	\$450.00
3	2P 40AMP-240V	in	-A-	\$12.00	\$360 00
4	2P 50AMP-240V	30	H.A.	\$12.00	\$360 00
5	2P 70AMP-240V	20	F.A.	\$28.00	\$560 00
6	3P 30AMP-208/240/480V	20	F.A.	\$45 00	\$900 00
7	3P 40AMP-208/240/480V	15	-A-	\$40.00	\$600.00
8		15	EΑ	\$40.00	\$600 00
9	3P 60AMP-208/240/480V	15	EA-	\$50.00	\$750 00
			SUB-TOT	ALITEM II	\$4,830.00
J.J.	EMERGENCY LIGHT FIXTHRES				201.03.100000
$\equiv$	CCS WHT EMERGENCY LIGHTING LINIT	10	E.A.	\$12.40	\$124.00
=			SUB-TOT.	ALITEM I II	\$124.00
		2000	+,,,	\$0.08	20220-00
1.	1312 BULK TELLOW WINE CONNECTORS JOU DAG				
_				7.00	\$160 00
2	512 BULK RED WIRE CONNECTORS, 500 BAG	2000	E <sub>A</sub>	\$0.10	\$200 00
_	512 BULK RED WIRE CONNECTORS SOO BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS	2000 1000	EA.	\$0.10 \$0.16	\$200 00 \$160 00
2. 2. A <sub>1</sub>	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 34" ELECTRICAL METALLIC TURING.	2000 1000 2000	Ea Ea et	\$0.10 \$0.16 \$0.89	\$200 00 \$160 00 \$1,780 00
2 2 4	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 34 " ELECTRICAL METALLIC TURING. 1" ELECTRICAL METALLIC TUBING.	2000 1000 2000 1000	Ea Ea ET Fi	\$0.10 \$0.16 \$0.89 \$1.51	\$200 00 \$160 00 \$1,780 00 \$1,510 00
2. 2. 4. 5.	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 34" ELECTRICAL METALLIC TURING 12" ELECTRICAL METALLIC TURING 1/2" EMT ELECTRICAL METALLIC TURING	2000 1000 2000 1000 3000	EA FA FT FT FT	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00
2. 2. 4. 5. 60 7.	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 34" ELECTRICAL METALLIC TURING. 1" ELECTRICAL METALLIC TURING. 1/2" EMT ELECTRICAL METALLIC TURING. 3" DIECAST SET SCREW	2000 1000 2000 1000 3000 300	EA EA. FT. FT. FE	\$0.10 \$0.16 \$0.80 \$1.51 \$0.50 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00
2 4 5 6 7	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4" ELECTRICAL METALLIC TUBING. 1" ELECTRICAL METALLIC TUBING. 1/2" EMT ELECTRICAL METALLIC TUBING. 4" DIECAST SET SCREW 4" ONE HOLE ELECTRICAL METALLIC TUBING.	2000 1000 2000 1000 3000	EA FA FT FT FT	\$0.10 \$0.16 \$0.80 \$1.51 \$0.50 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,210 00 \$1,500 00 \$45 00 \$45 00
2. 4. 5. 60 7. 8 Q!	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4. " ELECTRICAL METALLIC TURING 1." ELECTRICAL METALLIC TURING 1." EMECAST SET SCREW 2." ONE HOLE ELECTRICAL METALLIC TURING V500 RACEWAY WIREMOLD TURING	2000 1000 2000 1000 3000 300 300	EA. FT. FT. FL. EA. EA.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00
2. 4. 5. 6. 2. 8 Q. 1.0.	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4." ELECTRICAL METALLIC TURING 1." ELECTRICAL METALLIC TURING 1." EMECAST SET SCREW 2." ONE HOLE ELECTRICAL METALLIC TURING V500 RACEWAY WIREMOLD TURING 2." ONE HOLE ELECTRICAL METALLIC TURING 3." ONE HOLE ELECTRICAL METALLIC TURING 3." ONE HOLE ELECTRICAL METALLIC TURING	2000 1000 2000 1000 3000 300 300 300 300	EA. FT. FT. FC. EA. FT	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00 \$45 00
2. 4. 5. 60 7. 8 0. 1.0. 1.1.	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4." ELECTRICAL METALLIC TURING. 12" ELECTRICAL METALLIC TURING. 142." EMT ELECTRICAL METALLIC TURING. 142" ONE HOLE ELECTRICAL METALLIC TURING 143" ONE HOLE ELECTRICAL METALLIC TURING 144" ONE HOLE ELECTRICAL METALLIC TURING 145" ONE HOLE ELECTRICAL METALLIC TURING 146" ONE HOLE ELECTRICAL METALLIC TURING 147" ONE HOLE ELECTRICAL METALLIC TURING 148" BX-METALLIC CARLE CONNECTORS	2000 1000 2000 1000 3000 300 300 300 300 300	EA. FT. FT. EA. FT. EA. FT.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,510 00 \$45 00 \$36 00 \$48 00
2. 4, 5. 60 7. 8 0. 1.00 1.10 1.10 1.10	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS  4." ELECTRICAL METALLIC TURING.  1." ELECTRICAL METALLIC TURING.  1." DIECAST SET SCREW  4." ONE HOLE ELECTRICAL METALLIC TURING.  2." ONE HOLE ELECTRICAL METALLIC TURING.  2." ONE HOLE ELECTRICAL METALLIC TURING.  3." ONE HOLE ELECTRICAL METALLIC TURING.  3." ANE HOLE ELECTRICAL METALLIC TURING.  3." WE WILL SHOW OR SET SCREW. CONNECTORS.  3." FM. LIHEGASE SET SCREW. CONNECTORS.	2000 1000 2000 1000 3000 300 300 300 300 100	EA. FT. FL. FA. FA. FT. FA. FA. FA. FA.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60 \$0.25	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00 \$36 00 \$48 00
2 4 5 6 7 8 0 10 11 11 12	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4." ELECTRICAL METALLIC TURING. 12" ELECTRICAL METALLIC TURING. 142." EMT ELECTRICAL METALLIC TURING. 142" ONE HOLE ELECTRICAL METALLIC TURING 143" ONE HOLE ELECTRICAL METALLIC TURING 144" ONE HOLE ELECTRICAL METALLIC TURING 145" ONE HOLE ELECTRICAL METALLIC TURING 146" ONE HOLE ELECTRICAL METALLIC TURING 147" ONE HOLE ELECTRICAL METALLIC TURING 148" BX-METALLIC CARLE CONNECTORS	2000 1000 2000 1000 3000 300 300 300 300 100 300	EA. FT. EA. FT. EA. FT. EA. FT. EA. EA. EA.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60 \$0.25	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00 \$45 00 \$36 00 \$48 00 \$60 00 \$75 00
2 4 5 6 7 8 0 1.0 1.1 1.2 1.3	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS  4" ELECTRICAL METALLIC TURING.  1" ELECTRICAL METALLIC TURING.  1" DIECAST SET SCREW  4" ONE HOLE ELECTRICAL METALLIC TURING.  2" ONE HOLE ELECTRICAL METALLIC TURING.  3" EX METALLIC CARLE CONNECTORS.  4" EMIL DIFICASE SET SCREW CONNECTORS.  2" EMT DIECAST SET SCREW CONNECTORS.	2000 1000 2000 1000 3000 300 300 300 300 100 300 30	EA. FT. EA. FT. EA. FT. EA. EA. EA. EA. EA.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60 \$0.25	\$200 00 \$160 00 \$1,780 00 \$1,700 00 \$1,500 00 \$45 00 \$45 00 \$36 00 \$48 00 \$60 00 \$60 00
2. 4, 5. 6, 6, 7. 8 0.1 1.1, 1.1, 1.2, 1.3, 1.4,	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS  4" ELECTRICAL METALLIC TURING.  1" ELECTRICAL METALLIC TURING.  1" DIECAST SET SCREW  4" ONE HOLE ELECTRICAL METALLIC TURING.  2" ONE HOLE ELECTRICAL METALLIC TURING.  3" EX METALLIC CARLE CONNECTORS.  4" EMIL DIFICASE SET SCREW CONNECTORS.  2" EMT DIECAST SET SCREW CONNECTORS.  V504 WIREMOLD TURING 2 HOLE STRAPS.  CR20 NEMAS 20A IVORY DUPLEX.	2000 1000 2000 1000 3000 300 300 300 300 100 300 30	EA. ET. FI. EA. EA. EA. EA. EA. EA. EA. EA. EA.	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.12 \$0.60 \$0.25 \$0.25 \$0.20	\$200 00 \$160 00 \$1,780 00 \$1,780 00 \$1,500 00 \$45 00 \$45 00 \$36 00 \$60 00 \$75 00 \$2 50
2. 2. 4. 5. 60 7. 8 0. 1.0. 1.1. 1.2. 1.3. 1.4. 1.5. 1.6.	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4" ELECTRICAL METALLIC TURING. 1" ELECTRICAL METALLIC TURING. 1" DIECAST SET SCREW 4" ONE HOLE ELECTRICAL METALLIC TURING. V500 RACEWAY WIREMOLD TURING. 2" ONE HOLE ELECTRICAL METALLIC TURING. 2" ONE HOLE ELECTRICAL METALLIC TURING. 3" WAS BX METALLIC CARLE CONNECTORS. 4" EMIL DIECAST SET SCREW CONNECTORS. V504 WIREMOLD TURING 2 HOLE STRAPS. CR20 NEMAS 20A IVORY DUPLEX.	2000 1000 2000 1000 3000 300 300 300 300 100 300 50 100	EA FA FT FI FA EA FA EA EA FA	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.15 \$0.16 \$0.60 \$0.25 \$0.25 \$0.25 \$0.25	\$200 00 \$160 00 \$1,780 00 \$1,500 00 \$45 00 \$45 00 \$45 00 \$48 00 \$60 00 \$75 00 \$2 50 \$135 00
2. 3. 4. 5. 60 7. 8 0.1 1.0 1.3 1.4 1.5 1.6 1.7	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 24 " ELECTRICAL METALLIC TURING 12" ELECTRICAL METALLIC TURING 12" EMETALLIC TURING 12" DIECAST SET SCREW 12" ONE HOLE ELECTRICAL METALLIC TURING 12" EMTALLIC CARLE CONNECTORS 14" EMTALLIC SET SCREW CONNECTORS 14" EMT DIECAST SET SCREW CONNECTORS 15" EMT DIECAST SET SCREW CONNECTORS 16" EMT DIECAST SET SCREW CONNECTORS 17" EMT DIECAST SET SCREW CONNECTORS 17" EMT DIECAST SET SCREW CONNECTORS 18" ENTONE OLD TURING 2 HOLE STRAPS 18" CR20 NEMAS 20A IVORY DUPLEX 19" LIQUID TITE FLEXIBLE TURING	2000 1000 2000 1000 3000 300 300 300 300 100 300 50 100 300	EA. FT. EA. FT. EA. EA. EA. EA. EA. EA. EA. EA. EA. EA	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.15 \$0.16 \$0.60 \$0.25 \$0.25 \$0.25 \$0.25 \$0.25	\$200 00 \$1,780 00 \$1,780 00 \$1,510 00 \$1,510 00 \$45 00 \$45 00 \$48 00 \$60 00 \$75 00 \$12 50 \$135 00
2. 3. 4. 5. 60 7. 8 0.1 1.0 1.3 1.4 1.5 1.6 1.7	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS 4." ELECTRICAL METALLIC TURING 1." ELECTRICAL METALLIC TURING 1." ELECTRICAL METALLIC TURING 1." ELECTRICAL METALLIC TURING 1." DIECAST SET SCREW 1." ONE HOLE ELECTRICAL METALLIC TURING 1." EMT DIECAST SET SCREW CONNECTORS 1." LIQUID TITE FLEXIBLE TURING 1." EMT DIECAST COMPRESSION COUPLINS 1." EMT DIECAST COMPRESSION COUPLINS	2000 1000 2000 1000 3000 300 300 300 300 100 300 50 100 300 100	EA. FT. FA. EA. FT. EA. EA. EA. EA. EA. EA. EA. EA. EA. EA	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.15 \$0.16 \$0.60 \$0.25 \$0.20 \$0.05 \$1.35 \$1.35 \$1.45	\$200 00 \$160 00 \$1,780 00 \$1,510 00 \$1,510 00 \$45 00 \$45 00 \$48 00 \$60 00 \$75 00 \$35 00 \$35 00 \$35 00 \$35 00 \$35 00
2 4 5 60 7 8 8 0 1 10 1 10 1 1 1 1 1 1 1 1 1 1 1 1	512 BULK RED WIRE CONNECTORS 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS  4. ELECTRICAL METALLIC TURING  1. ELECTRICAL METALLIC TURING  1. ELECTRICAL METALLIC TURING  1. ELECTRICAL METALLIC TURING  1. DIECAST SET SCREW  2. ONE HOLE ELECTRICAL METALLIC TURING  3. SAMETALLIC CARLE CONNECTORS  4. EMIT DIECAST SET SCREW CONNECTORS  4. LIQUID TITE FLEXIBLE TURING  4. LIQUID TITE FLEXIBLE TURING  4. EMIT DIECAST COMPRESSION COURLINS	2000 1000 2000 1000 3000 300 300 300 100 300 50 100 50	EA. FT. FA. FA. FA. FA. FA. FA. FA. FA. FA. FA	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60 \$0.25 \$0.25 \$0.05 \$1.35 \$1.35 \$1.85 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,780 00 \$1,510 00 \$1,500 00 \$45 00 \$45 00 \$48 00 \$60 00 \$75 00 \$35 00 \$135 00 \$135 00 \$135 00
2. 4. 5. 60 7. 8 8 0. 1.0 1.3 1.4. 1.5 1.6. 1.7 1.8. 1.9 2.0	512 BULK RED WIRE CONNECTORS. 500 BAG 30-273 SIZE 73B ORANGE WIRE CONNECTORS  4." ELECTRICAL METALLIC TURING.  1." ELECTRICAL METALLIC TURING.  1." ELECTRICAL METALLIC TURING.  1." DIECAST SET SCREW  4." ONE HOLE ELECTRICAL METALLIC TURING.  V500 RACEWAY WIREMOLD TURING.  2." ONE HOLE ELECTRICAL METALLIC TURING.  2." ONE HOLE ELECTRICAL METALLIC TURING.  3.48" BX-METALLIC CARLE CONNECTORS.  4." FAMILIAN CARLE SET SCREW CONNECTORS.  4." EMT DIECAST SET SCREW CONNECTORS.  4." EMT DIECAST SET SCREW CONNECTORS.  4." EMT DIECAST SET SCREW CONNECTORS.  4." LIQUID TITE FLEXIBLE TURING.  4." LIQUID TITE FLEXIBLE TURING.  4." EMT DIECAST COMPRESSION COUPLINS.  5.8." RAISE SINGLE POLE PLASTER RINGS.	2000 1000 2000 1000 3000 300 300 300 300 100 300 50 100 50 50	EA. FT. FT. FA. EA. EA. EA. EA. EA. EA. EA. EA. EA. E	\$0.10 \$0.16 \$0.89 \$1.51 \$0.50 \$0.15 \$0.15 \$0.12 \$0.16 \$0.60 \$0.25 \$0.20 \$0.05 \$1.35 \$1.35 \$1.35 \$0.15	\$200 00 \$160 00 \$1,780 00 \$1,500 00 \$1,500 00 \$45 00 \$45 00 \$48 00 \$60 00 \$2 50 \$135 00 \$135 00 \$135 00 \$135 00 \$135 00 \$135 00

Awarded by Commissioners Court on 01/17/2023

1-9-2023

BUILDING SUPPLIES: ELECTRICAL - ANNUAL BID # 2000-2GEN

AS PER BIDS RECEIVED ON: JANUARY 4, 2023 AT 11:00 A.M.

FROM: JANUARY 23, 2023 TO: JANUARY 22, 2024 W/ OPTION TO RENEW ONCE OR TWICE FOR (ONE) ADDITIONAL YEAR W/ EACH RENEWAL.

(Continued) Primary Vendor - Electrical				TRIC FIXTURE SUPPLY INC. 810 E, 11th, St, BROWNSVILLE, TX, 78522 (956) 546-2401
IV. MISCELLANEOUS (CONTINUED)	U/M	Qty pr/yr.	Unit Price	Total pr/ yr.
23 SINGLE GANG BLANK COVERS		EA	\$0.15	\$15.00
24 DUPLEX RECEPTACLE OUTLET COVER		EA	\$0.20	\$20.00
25 ¼" EMT DIE CAST SET SCREW CONNECTORS		EA	\$0.20	\$20.00
26 1/2" CONDUIT CLIPS KADDY	50	EA	\$0.05	\$2.50
27 ½" SINGLE GANG KO HANDY BOXES	50	EA	\$0.03	\$15.00
28 4 X 4 JUNCTION BOXES ½" & ¾" KO - SHALLOW	50	EA	\$2.50	\$125.00
29 4 X 4 JUNCTION BOXES 1/2" & 3/4" KO - DEEP	50	EA	\$4.25	\$212.50
30 33 + SUPER 34 X 66 FT 3M TAPE	20	EA	\$8.75	\$175.00
				\$150.00
31 120V EYE PHOTO CONTROL FIXED POSITION	10	EA EA	\$15.00	\$237.50
32 SINGLE POLE 120/277V SP20 A	50	EA	\$4.75	\$5.00
33 WIREMOLD SINGLE GANG BOXES - SHALLOW	10		\$0.50	\$297.50
34 5/8" GROUND ROD	10	EA	\$29.75	\$2,50
35 FC6-1PC CRIMP ON COAX CONNECTORS	50	EA	\$0.05	\$2,50
36 V511 2-IN 90D WIREMOLD FLAT ELBOWS	10	EA	\$0.25	\$15.00
37 4 X 4 ½" & ¾" KO EXTRA DEEP JUCTION	30	EA	\$0.50	\$40.00
38 5/8" GROUND ROD CLAMPS	10	EA	\$4.00	\$3.00
39 ¼" PVC FEMALE CONNECTORS	50	EA	\$0.06	
40 2" PLASTIC INSULATION BUSHINGS	30	EA	\$0.80	\$24.00
41 WIREMOLD FLUSH EXTENSION BOXES	10	EA	\$0.45	\$4.50
42 SINGLE RECEPTACLE NEMA6-20R WHIT/IV	50	EA	\$0.40	\$20.00
43 25DTP-4 IV 10 FOOT POWER POLES	- 5	EA	\$44.75	\$223,75
44 V517 2-3/4 WIREMOLD INTERNAL ELBOWS	-5	EA	\$0.50	\$2,50
45 V518 2-1/8 WIREMOLD EXTERNAL ELBOWS	_ 5	EA	\$0.50	\$2,50
46 165 4 OCT 2-1/8 D OCTAGON JUNCTION BOXES 1/2	20	EA	\$0.80	\$16.00
47 35-YELLOW ¼ X 66FT MARKING TAPE	10	EA	\$9.00	\$90,00
48 35-ORANGE ¼ X 66FT MARKING TAPE	10	EA	\$9.00	\$90,00
49 35-BROWN ¾ X 66FT MARKING TAPE	10	EA	\$9.00	\$90.00
50 DUPLEX NEMA5 15R RECEPTACLE OUTLETS	50	EA	\$0.50	\$25,00
51 PSA1J PLASTIC ANCHOR KITS W/ SCREWS	10	EA	\$7.50	\$75.00
52 2-IN SNAP-IN KO BLANK	10	EA	\$0.20	\$2,00
53 SINGLE DUPLEX RECEPTACLE OUTLET	30	EA	\$0.16	\$4.80
54 REGULAR RESIDENTIAL 36" RANGE HOOD	5	EA	\$20.50	\$102,50
55 SINGLE RECEPTACLE NEMA5-20R WHIT/IV	50	EA	\$0.50	\$25.00
56 4" EMT DIE CAST COMPRESSION	50	EA	\$0.15	\$7.50
57 125V 40A TIMER 7 DAY	3	EA	\$7.45	\$22.35
58 WIREMOLD SINGLE GANG BOXES - SHALLOW	5	EA	\$0.55	\$2.75
*	──► \$8,729.15			
	\$16,377.85			
Miscellaneous Catalog Discount				Trade Service 80 % off lis

OTHER ITEMS: A. Disconnects 70%, B. Load Centers 80%, C. Circuit Panel & Covers (ITE) 80%,

D. Circuit Pagel & Covers (Cutler Hammer) 70%, E. Load Centers (ITE) 80% & F. Load Centers (Cutler Hammer) 70% off list price

PEDROTIINOJOSA - BUILDING MAINTENANCE MANAGER DATE

**Awarded by Commissioners' Court** on 01/17/2023



## PRIMARY VENDOR FISCAL YEAR 2023 2024 BID # 2000-2GEN - BUILDING SUPPLIES - ELECTRICAL PRICING/DELIVERY INFORMATION

MISC. Related Items: Identify a specific document and pricing reference, for example, ABC, Inc. 10/01/23 Fall Catalog list price column, or XYZ Co. 1/1/07 Jobber Price Sheet wholesale price column, etc., and a multiplier thereto, for example, 75% to indicate a 25% discount, or 110% to indicate a 10% premium. The purchases by Cameron County of these related items should not exceed 20% of the total annual purchases under the contract. 1. Document and pricing reference: I NASE SEPTION POOR BOOK CIST

20 FOR A 80 % Discount off List Price 3. Document and pricing reference: % Discount off List Price\_\_\_\_\_ 4. Document and pricing reference:

\_\_\_\_\_\_\_\_% Discount off List Price 5. Document and pricing reference: \_\_\_\_\_\_\_\_ % Discount off List Price \_\_\_\_\_\_\_ 6. Document and pricing reference: % Discount off List Price **OTHERS** % Discount off List Price A. Disconnects % Discount off List Price B. Load Centers 80 C. Circuit Panel & Covers (ITE) % Discount off List Price 70 % Discount off List Price D. Circuit Panel & Covers (Cutler Hammer) \_\_\_\_\_% Discount off List Price E. Load Centers (ITE) % Discount off List Price F. Load Centers (Cutler Hammer)